
 
 

Sample Entrance Test for BBA 

1. An aeroplane covers a certain distance at a speed of 280 kmph in 3 hours. To cover the same 

distance in 2 1/3 hours, it must travel at a speed of: 

a) 300 kmph 

b) 360 kmph 

c) 400 kmph 

d) 440 kmph 

2. The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the 

age of the youngest child? 

a) 4 years 

b) 7 years 

c) 10 years 

d) None of these 

3. A sum of money is to be distributed among A, B, C, D in the proportion of 5 : 2 : 4 : 3. If C 

gets INR 1000 more than D, what is B's share? 

a) INR 500 

b) INR 1000 

c) INR 1500 

d) None of these 

4. A vendor bought toffees at 6 for a rupee. How many for a rupee must he sell to gain 20%? 

a) 3 

b) 4 

c) 5 

d) 6 

5. A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had 

…………. apples: 

a) 588 

b) 600 

c) 672 

d) 700 

Each one of the following questions consists of a related pair of words, followed by five pairs of words. 

Choose the pair that best represents a similar relationship to the one expressed in the original pair of 

words 

6. BINDING : BOOK 

a) Criminal : Gang 

b) Display : Museum 

c) Artist : Carpenter 

d) Nail : Hammer 

e) Frame : Picture 

7. SLAPSTICK : LAUGHTER 

a) Fallacy : Dismay 

b) Genre: Mystery 

c) Satire: Anger 

d) Mimicry: Tears 

e) Horror: Fear 



 
 
Each one of the following questions contains a sentence that describes the relationship between the 

first two words. Try to use the same sentence to find out which of the answer choices completes the 

same relationship with the third word 

8. Marathon is to race as hibernation is to 

a) winter 

b) bear 

c) dream 

d) sleep 

e) None of these 

9. Pen is to poet as needle is to 

a) thread 

b) button 

c) tailor 

d) sewing 

e) None of these 

10. Candid is to indirect as honest is to 

a) frank 

b) wicked 

c) truthful 

d) untruthful 

e) None of these 

In the following questions, choose the word which best expresses the meaning of the given word. 

11. BRIEF 

a) Limited 

b) Small 

c) Little 

d) Short 

12. VENT 

a) End 

b) Opening 

c) Stodge 

d) Past tense of go 

13. INEBRIATE 

a) Dreamy 

b) Drunken 

c) Stupefied 

d) Unsteady 

In questions given below, out of the provided alternatives, choose the one which can be substituted 

for the given word/sentence 

14. A person who insists on something 

a) Disciplinarian 

b) Stickler 

c) Instantaneous 

d) Boaster 



 
 

15. One who is not easily pleased by anything 

a) Maiden 

b) Mediaeval 

c) Precarious 

d) Fastidious 

In questions given below, choose the correct alternative 

16. India has largest deposits of …………. in the world. 

a) gold 

b) copper 

c) mica 

d) silver 

17. CONCOR stands for, 

a) Container Corporation of India Ltd. 

b) Company on Corruption 

c) Container Corrugated India Ltd. 

d) Concord Ltd. 

18. The popular name for Tata Ace is, 

a) Chota Bheem 

b) Chota Maruti 

c) Chota Hathi 

d) None of these 

19. ………… is the apex body of Indian Retailers 

a) RIA 

b) RAI 

c) IRA 

d) None of these 

20. JNPT is the largest container port in India. What is the other name of this port? 

a) Mumbai Port 

b) Nhava Sheva Port 

c) Kandla Port 

d) Chennai Port 
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